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[13] 69 A Wikl OOk M) Ri5

[21] 21#reh &322 (b & )ID) Rig



[42] 193 /& 37
(48] 247 4 £+
[52] 255 & M
(571 107 )1 &

B3 (&
AL 2 (#
AL 2 (B
g5 3 3 (=

H) Ri5
H) Ri5
) Ri5
1) Ri5



[248] ( -1.9 m)

1[ 2] 2671016 #xK 3 (4 R) 30.
20 8] 317 L M1 (F W »)30.
3[ 4] 254 8y meX2 (R | H)31.
40 5] 1698 H ®2 08 4 I3
50 7] 205/ /hE& 3 (- B M £)31.
60 6] 209K UBICALIE 2 (I - k2% 1) 31,
7031 95 B2 (P & Mt J8)31.
[4%8] ( -1.9 m)

10 2] 283FAL < B2 G » %) 29.
2[ 4] 161 % fE M B 1 (K 1H)29.
3[ 5] 2455439723 (b JII 79)30.
40 8] ToEE & 2 3 (P& ) 30.
50 7] 26342 (L 0yl 2 (F% fi]) 30.
6[ 3] 157%#E FHAL2 (& R 30.
10 6] 204%5 H fEA&3 (H 1) 31.
[6%H] ( -1.4 m)

1[ 3] 181/hEF 2w & 3 (8 i) 27.
2[ 5] 118 &8 #k 13 (7 By 2 JF)27.
3[ 2] 283K JI H 1 1 (78 A 4)28.
AL 7] 83EH Fy2 Gk m H —)28.
5[ 8] 2650tk JFk #h 2 (& ) 29.
6[ 1] 251fF = &2 (FF W F9)29.
106] 998 w22 (R L » )29,
8[ 4110337 A+ 3 (& 3¢ [H B 29.

TFHE ME200m R TH)
[148] ( —0.1 m)

104 3IATF EE1 B +)29.00
2[ 3] 103% ik kK2 (/4 %) 30. 27
3[ 7] 295/h#k7e>&x 2 (G A [)30.72
47 2] 155 o1 U H)31. 14
50 6] 223=F; #ZF2 (& 7= 1 £)31.20
6[ 8] 2145 A E£¥2 (0l & m31.29
70 5] 239/ HEFi1 (b 2> 72 £)33.50
[3%H] ( -0.5 m)

108 3BFH #HK3 (F ) 30. 00
2[ 5] 143/ HREF]Z 3 ( e )30. 45
3[ 6] 18315 JIl B33 (K f) 30. 87
41 7] 173%50#@ 2 (% Fl £)30.91
5[ 2] 229k A& 152 (& E)31.09
6[ 3] 416 % 5512 (R F#)31.35
70 4] 200K7))1meqE 2 (= - M £&)32.50
[5%H] ( -1.6 m)

108] 2935 % 2 (*fF Fn )28 41
2[ 3] 2461k EEZ0m 1 (b Il P4)28. 68
3[ 4] 9TH A meES3 CH %) 29. 12
40 6] NTRALREMHE 3 (O B 2% J7)30.05
50 7] 253%53 £ 42 (B 11 H)30.07
6[ 5] 89MT MW #rz2 (H ¥ F4)30.15
1[ 2] 26158 KCETh 3 (F £) 30. 25
[748] ( -1.1 m)

10 3] 352 HEIE 3 OR 1) 26. 87
2[ 2] 3 jE RMe2 ( Ji )27.93
3[ 8] 203%F A #i3 (F 1) 28. 44
A[ 5] 316 £ E£F3 (K ) 28. 81
5[0 4] 9k ¥ x 13 (GF F2)29. 17
6[ 7] 217%& H #EE3 (1L M) 29. 23
70 1] 3052 W B2 (#8 %)29.90
8L 6] T ZEH3 OGS > JI11)30.30
0 AN

e 3

1 5 ZHMEIE 3 (K %) 26. 87 -1.
2 187/ - wpx 3 (f& m7)27.75 1.
3 MBRIE #k+ 3 (7 By 25 J5)27.91 ~1.
4 3Nk RMeE2 ( Jﬁi )27.93 -1.
5 293 EEWH 2 (B Fn H)28.41 -1,
6 20375 K B§3 (F (11)28. 44 -1.
T 246 fffEd=m 1 (b )1l 74§)28.68 1.
8 283 & )II B 1 (FH K 45)28.75 -1.

NO -0 =2 D =
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A



